Subject: Re: ANC components - discrepancies with final report usingGitCode
Posted by Trevor-DHS on Fri, 31 May 2024 12:49:34 GMT
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Kenya 2014 DHS used a split sample with a long questionnaire and a short questionnaire. Some
indicators can only be calculated for the half of the sample that used the long questionnaire, and
that is probably the case for this indicator. Thus, you need to select for cases that used the long
guestionnaire. You can use v044 to identify the long questionnaire, as follows:

gen longgre = 1 if vO44 !=.

then select those cases with longqre ==
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